Code as a Synthesized Attribute:  P-Code

	node ( (= id exp)
	node.code = {

                           lda id.name

                           exp.code

                           sto

                     }

	node1 ( (+ node2 node3)
	node1.code = {

                           node2.code
                           node3.code
                           adi

                     }

	node ( (id)
	node.code = {

                           lod node.name

                     }

	node ( (num)
	node.code = {

                            ldc node.name

                     }


Code as a Synthesized Attribute:  Quadruples

	node ( (= id exp)
	node.code = {
                           exp.code

                           (move, id.name, exp.name, _)

                     }

	node1 ( (+ node2 node3)
	node1.code = {

                           node2.code
                           node3.code
                           (add node1.name, node2.name, node3.name)

                      }

node1.name = newlab()

	node ( (id)
	

	node ( (num)
	


Simple Code Generator: P-Code:

void genCode(treeNode t) {


switch (t.type_ {


case Assign:



System.out.println(“lda “ + t.children[0].name);



genCode(t.children[1]);



System.out.println(“sto”);



break;


case Plus:



genCode(t.children[0]);



genCode(t.children[1]);



System.out.println(“adi”);



break;


case ID:



System.out.println(“lod “ + t.name);



break;


case NUM:



System.out.println(“ldc “ + t.name);



break;


}

}

